Efficiency vs P,

+0.05 -
. :
D045+

SOE :
S 0.04F - FH Ao er e
(< o :
D035+ e
3] E :
0.03F e pH{fireeeeees R STITRT
E | :
0,025 -+ ff-gieeeenene R STITRTS
0.02F o[- fieeeeeeeesene R STITRI
0.015F -k fi-eeeeeees e
0.00F - froe e R
0,005k -+ {:+eiesreresesenshonninininde
o : :
g
o L

-1 2 3
T
== DQM XIMINUS_oTiginar_Tow

—e— DQM_XiMinus_newbranch
—— DQM_XiMinus_original_lowpt_pLess
—— DOM_XiMinus_newbranch_lowpt_pLess

Potwpt

= 0.2
2 E :
2018
2 F :
LR i
S F
014 oo
® :
0.12F -
0.0+
0.08F--- -
0.06f -t

0.04F -+ f--4---

0.02F - f--

..................................

J_.\‘C_llllill

Ratio

H
T

%
H

0.95

Efficiency vs ¢

o 0.2
Y :
20.18F
Q F:
20.16¢
o -
£0.14F
o :
0.12F
0.1
0.08F
0.06F - -
0.04f+---
i

0.02f -

1.0

Ratio

e
A

B o e




	Contents
	Page 1


